Practice Test — Grade 6 Math Answer Key

Maximum

NlIJtr?lrSer Item Type TEKS Numper of Aﬁgx:f(;)
Points

1 Multiple Choice 1.7.D 1 D
2 Multiple Choice 2.3.D 1 A
3 Drag and Drop 3.8.C 2 C,D
4 Multiple Choice 2.10.A 1 B
5 Multiple Choice 4.14.A 1 A
6 Multiple Choice 1.7.A 1 C
7 Multiple Choice 2.4.A 1 D
8 Match Table Grid 4.13.A 2 B,A B
9 Multiple Choice 2.4.B 1 C
10 Multiple Choice 15.C 1 A
11 Multiple Select 2.3.E 2 C,E
12 Multiple Choice 1.2.B 1 B
13 Hot Spot 2.6.C 2 See Appendix 1.1
14 Multiple Choice 4.12.D 1 C
15 Inline Choice 2.9.B 2 A, B, B
16 Multiple Choice 3.4.H 1 D
17 Multiple Choice 1.7.A 1 B
18 Multiple Choice 2.6.B 1 A
19 Multiple Choice 3.8.D 1 D
20 Multiple Choice 4.13.A 1 B
21 Multiple Choice 2.4.B 1 D
22 Multiple Choice 4.14.G 1 A
23 Text Entry 1.4.G 1 0.875
24 Multiple Choice 29.C 1 A
25 Multiple Choice 1.2.D 1 C
26 Multiple Choice 3.8.A 1 B
27 Multiple Choice 2.3.D 1 B
28 Drag and Drop 1.4.E 2 C,F
29 Hot Spot 3.11.A 2 See Appendix 1.2
30 Multiple Choice 2.3.A 1 A
31 Multiple Choice 414 E 1 C
32 Text Entry 2.10.A 1 34.62
33 Multiple Choice 4.12.D 1 B
34 Multiple Choice 2.5.B 1 B
35 Multiple Choice 3.4H 1 C
36 Multiple Choice 1.2.D 1 D




Practice Test — Grade 6 Math

Appendix
1.1

The cost of 54 tickets to a water park is $972. Each ticket costs the same amount.

Which table or equation represents the relationship between the number of tickets, ¢, and the total cost of the
tickets, c?

Select TWO correct answers,

t=18c | [c=54t| [t=5ac| }

10 | 540
: 12 | 648
§ 14 | 756

1.2

What are the locations of points (4, 3) and (3, -4) on the coardinate grid?

Select TWO correct answers.

B =5 =i =3 =2 =1 1 23 465 6
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